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QUESTION 1

Which statement is correct about overlay network?

A. An overlay network requires an OSPF areA.

B. An overlay network must have switches interconnected in a spine- leaf implementation
C. An overlay network uses tunneling technologies

D. An overlay network requires the CLOS architecture

Correct Answer: C

QUESTION 2

Which statement is true regarding Layer 3 underlay fabric networks?

A. Layer 3 underlay fabric networks can only be used across public networks

B. Layer 3 underlay fabric networks rely on IPsec tunnels to interconnect tenants

C. Layer 3 underlay fabric networks rely on Layer 2 loop prevention protocols

D. Layer 3 underlay fabric networks are more scalable than Layer 2 fabric underlay networks

Correct Answer: D

QUESTION 3

What are two reasons to use a vMX over a physical MX Series devices in your deployment? (Choose two)
A. A vMX provides more routing features.

B. A vMX accelerates adding new services

C. AvMX has a lower barrier of entry

D. A vMX increases analytic capabilities

Correct Answer: BC

QUESTION 4
A customer is planning a significant upgrade to their network that requires an increase in bandwidth.
They want to schedule the increase for a specific date and time.

Which feature within the NorthStar controller allows you to automate this process?
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A. LSP and Link Statistics
B. Maintenance Mode

C. Bandwidth Calendaring
D. NorthStar Planner

Correct Answer: C

QUESTION 5

What are two characteristics of cloud computing? (Choose two.)
A. Services are provisioned using automation.

B. Services are provisioned by the customer.

Correct Answer:. AB
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